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4 | TIVIVER I OF OKIEMER 21 0.11 22
5 |[TZULEE2— (PAFIVTI))=F )L 333 333
6 |T7ZULER2—bRaXl oF )L 0.20 0.001 0.20
7 | TOUNER LIV — T F )L 61 0.054 61
8 |TIUILFRATF L 0.026 333 0.003 333
9 |[77Va=kJ)L 0.049 176 0.012 176
10 |[77ulb A 88 569 5,281 22 988 23 28 7,000
11 |7V R A 0.094 0.094
12 [ TEMLTER 0.006 408| 3,125 31,574 118 4,174 140 38 0.002 581 40,156
13 | 7kh=kJsL 123 15 139 277
14 |7ER T ERY
5 | 7eF77
16 (2,2 —7VEAL)TFu=R L 0.001 0.0007 0.002
17 [ANb—T =
18 [ 7=V 0.086 0.027 0.11
19 [1—73/—9, 10—T7>r7%
20 |2—T3)xHK)—)L 291 52,520 25,456 78,267
21 |yayxy
22 |74 7m=)L 166 51 217
23 |XTG—=T3)Tx=/)—)L
24 |\ AR—T3I)Tx/)—)V
25 [ ART Vv 126 126
26 |3—T73I/—1—7m~
27 | A¥Ipm
28 |77 ILa—)u
29 1—T7ULAFL—2 3—ARFL S 6.0 6.0
HET LX NP ZLRUTE N NFD
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a4 3— AT FrAF N —3, 5, 5—KNIAF 1.9 1.9
LS IaNF =AYV T F—h ) )
35 AV TF LT ILTER
36 AT 4,951 4,951
37 A7/ —LA 2.0 2.0
2,2 — {7 TUER[(2, 6—T7
38 BE—4, 1 —Tz=L)FF ] H
J—)v
39 |[7x=FIkA
40 [E7=FB—h 660 660
41 |7/ T=)L 893 893
42 12— AV T H v 5.5 5.5
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44 AP LR IZEDOILEY 0.0003 0.14 0.14
45 | TR FF— )L
46 | Yaky =T 105 577
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58 |=F LS Va—)LE ) AF )L o—F )L 91 0.22 91
59 [mFL U7 0.024 2.2 2.2
60 |=FL U7 IUEERR 5.3 67 126 198
61 |~ x7 425 425
62 |~ratr 5,725 5,725
63 |7 YT aIR 4,331 4,331
64 |Th7xr Ty IR 1,547 54 1,601
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81 |¥ /U 0.00006 0.00006
82 RN O F DKL EY 24 15 3.2 41
83 |[ZAV 1,105 4.0 1,548 3.1 2,660
84 |7 VAXY— L
85 |ZNALTILFER 82 0.027 82
86 |71 — )L 0.005 59 0.001 59
87 |7l =izt EY 12 0.059 4.4 52 31 100
88 | NfiZubEY) 2.0 2.0
89 |/unr=Jr
90 |[ThITv 2,180 2,180
91 [>T FTv 619 619
92 |FMLT7z BTR 249 249
93 | AT Zm—)L 2,091 2,091
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129 [4—/un—3—AF )Tz /)—)L
130 |MCP
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188 [N, N— 2 7ma~Fi L7
189 N N—Io 7~ )L —2— ) F7

S — L AT 2T IR
190 [Py AY oy 0.005 0.005
191 |4V 7TaFA45 3,464 3,464
192 |[=F 47 2 R A
193 |[=F )L TF A AR
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1)-3




N
TNEN

fE229 PEHIERI - X B2 E R Ok H EHERHRIR (BT AR [1. WG EHA = e A DD O Z I LU T ~23. pE SEPEEN) e Al it i

ALY

ERPEH & (kg/H, X A4 FEIFImg-TEQ/4E)

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
e MR ERD N oz | . . e R PN —fRpE | PEZEPE Az
o W'E 4 \ T o s, |IEGEBETG | DevgA e | BIRAE | PLHE | 23D n FEERBE | PoE | fize o | AU | F AR | IKRER | TR i &t

i Thogr| B R BEA R e A | oo o | AEE ) RIS | T  0 mener| com | E | mi | el | i
195 | aFA4kA 1,518 1,518
196 [ AFHF A 668 668
197 [=5 2,083 2,083
198 | AhT—h
199 |CIZ/LAL A EL 260
200 |Y=kahLx
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208 |2, 44—V — = ¥)—TF)NTx/)—)
209 |7 mEsuonAx 386 182 568
210 |2, 2—7aE—2—L7 )7 ®RTIR
211 |/~ —2402
212 | 77—} 2,610 2,610
213 [N, N=—IAF LT ERTIR 134 49 0.58 183
214 |2, A—AF LT =V
215 |2, 6—AF LT =V
216 [N, N—IAF L7 =1 0.007 0.007
217 |FAHTIT N 150 150
218 [PAF LTI 2.1 0.005 2.1
219 |AF LI AL T 4R
220 | AF I FF IV S EED KRR
221 | _UT7THNVT 1,804 1,804
222 [T )FAIINT
223 IN, N=UAFILRTVINT IV
994 g’F‘N SAFTIRTLVT Iy =N=A% 67 93,886 139 94,092
225 |F)ZmjLky 1,050 3.0 1,053
226 |1, 1=V AF)LERTV
227 [/XFa—} 2,980 2,980
998 3,3’ \—“/“%ﬁﬁ/l/t“7::::/v—4, 4’ =

IN=AV T F—h
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235 | R FFEDOKIEIER 0.0002 0.0002
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251 |Zx==baF A 7,358 85 7,444
252 | T TF A 46 46
253 |7a 7 < J7RA
254 | A7 TR TRA 170 170
255 | T AT T =)L —T )L 1.4 1.4
256 | T AWk 4.6 4.6
257 |7 H/)—)v 51 0.004 51
258 [ NFHAFL T ETI 2.8 167 0.46 170
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264 |7
265 |7 RTERaAF VKT XV
266 |7 /LRJ 270 270
267 |FATINT 4,029 4,029
268 |F 7L 14 4,446 4,460
269 | VT 4k—)L
270 |TL7HLIR 0.0006 0.0009 0.002
271 |TL 7 HIVERY AF )L
272 |$RKIEVENE (BEHE A RS, ) 4.5 48 33 18 94 197
273 | /)V<=)L—RT LT )Lba— L 0.27 85 0.00006 85
274 | =¥V —RTho T4 —v
275 |RT T IVHiEE R A 177 260]  0.037 39,289 8,086 47,812
276 |ThTmFL LA 2.0 9.2 11
277 |[NZ=F LT3 229 209 431
278 |[NJ=FL T hI3 3.0 38 41
279 |1, 1, 1—RF)Zpoox
280 |1, 1, 2—RN)rpooxx
281 |NJZom—FL > 10,147 5.0 836 10,238
282 |~ oz 0.89 3.2 4.1
283 |2, 4, 6—KN)/ou—1, 3, 5—NT7
284 |CFC—113
285 |rvoot sy 157,907 157,907
286 |FJ7uE L 844 844
287 |2, 4, 6—N)/upr=/—)L
288 |CFC—11 13,658 13,658
289 |1, 2, 3—RJroar o i
290 |[RNJZmm 258 258

1, 3, 5—hJA(2, 3—TRF> 7t /L)
291 |—1, 3, 5— T —2, 4, 6(1H, 3H,

5H) — k4>
292 |NVZF LTI
293 |NUZ L7 4,386 4,386
294 12,4, 6—RN)7oE7x/—)L
295 13, 5, 5—FIAF )L—1—~FH /—/L
296 |1, 2, 4—RIAF LB 25,428 549 514 432 36,223 450 69 1,531 65,197
297 |1, 3, 5—RIAF LB 10,369 55 140 21,212 610 22,502 499 1,158 562 30 149 57,285
298 |NIL oAV T F—h 3.3 3.3
299 |fLATL 0.023 0.023
300 |brTy 217,951 11 1.7] 8,220 94,710 5,470/  1,000| 492,351 6,348 7,367 5,464 28 332 19| 839,364
301 [PV o7y
302 |F7HL 2,427 874 1.1 1,342 210 28 4,883
303 |1, 5—FTT7XZL L IAN =AY T F—h
304 |43 0.058 0.058
305 gAY 7.8 33 46 98 185
306 | T ZUNERA~FH AT L 0.11 0.11
307 | M kR by va=0 A
308 |=w/ L 0.0008 0.67 0.68
309 | =T UALEY) 3.2 691 8.8 81 783
310 | =k = kR
311 [FNbh—=baT=Y—)L
312 A Nb—=btaTr=J
313 |=hZ Uk
314 |NNT—=ppZup~ B
315 [ AN bh—=bElL =z
316 |=ha B 0.34 0.34
317 |=haA& 0.081 0.081
318 | “HifkxH 0.55 0.031 0.58
319 | /v~ — /=)L )La—)
320 | /=T x/)—)L 0.022 0.23 0.25
321 (INFUUMEEWY 0.057 55 3.7 59
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394 1, 3—bEA[ (2, 3—=ARFL7uat’ /L) 4%
VAL Vg
325 | A% 4 5,375 5,375

326 (/a7 TV

327 |1, 2—ERXR(2—ZuanTdo=)L) kNI

328 [T A 2.8 2,144 3.0 2,150

329 |ARYF—/3A—Fh

EAX(1—AF)V—1—Txz=/)LF)L) =~

330 | rwo e 18 0.022 18
331 | RPHRA 735 735
332 |{MFE R OPZFOERILEY 0.00002 0.0000003 5.3 5.1 10
333 |[ERFY 2.1 2.1

334 |[4A—beRuX L BHFEBAT IV

335 IN—(4—bRFaxy7=z=/1) 7T ®LT7IF

336 |ERm¥x /2 2.2 3.0 5.2

337 44—t =/ —1—7ua~Ft

338 |2—E =LY

339 IN—E=)1—2—FnrlJR

340 [EV ==V

341 BTV

342 BT 0.68 0.18 0.86

343 | HTa—)v

344 | T x= AV F R T

345 |7 ==)LERTFV

346 |2— T ==V 7 /—)L

347 IN— T xz=)L <L AR

348 |[7xz=L VT3V

349 |V = /—)V 57 0.085 9.0 66
350 |~LARY 229 112 341
351 |1, 3—THFV= 236 666 15,698 180 1,156 174 38 18,148

352 |ZHNEE T UL

353 |ZHNLEEY =T L

354 |T7ENVERY — IV~ )V — T F )L 20 61 541 623
355 | 7HIVERE A (2 —ZF )L~FI L) 269 15 283
356 |THIEE L)L —TFI)L=~_U )L 7.9 7.9
357 |7 a7 519 519

358 | 777 /R

IN=)—TF ) —2, 3—TRF T ar

359 LT L

360 |~/V 1,930 1,930
361 |vaky ST T 4,020 4,020
362 [T 7Ty

363 | AxXHTT 96 96
364 |7z EuF AL 68 68
365 |[BHA

366 |Z— v —T7FL=bRa~LFFR

367 | ANE—8 WXV =T F )Tz /)—)L

368 [4—H—x)—TFNTx/)—)L 0.44 0.012 0.45
369 |7 Lk

370 |[BUHE 60 60
371 |77 7B TIR 50 50

N— (Z—3%)—TFF))—2— S F7

32 | a7 = 7R M i
373 2—H— ) =T F ) —5—AF )L T =

J—)L
374 | 5o bIKFE R OE DK IEER 1,975 2,103 4,078
375 |2— T T —)L
376 |7 X u—)L 6,782 6,782
377 |7Tv
378 |7 R 6,090 6,090

379 |2—mur’—1—F—/b

380 v —1211

381 | uETIABRAK 223 53 276

382 |»»xm2r—1301
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383 [T mwi L 5,231 5,231
384 |[1—7mEr o] 7,516 7,516
385 |[2— T aETa
386 | RALATF L
387 Bt 7= T HARX
388 | L RALT 7
389 ?3“7& SIVNIATFNT e =y h=rmY 6.7 1,217 144 1,368
390 [ NFHAFL U UTIV
391 [ ~AFYPAFL L =TT F—h 0.67 0.67
392 | <L —~FH 43,870 1,844 2,494 96,683 2,598 0.45 169] 147,658
393 | ¥ FTh—)L
394 | VU LK OZEDILEY
395 |[~ULASY T RREROD KRR 3.6 3.6
396 |[PFOS
397 |y =RralR
398 [ b~ 0.008 0.008
399 [ R RXTILTER 0.003 135 6,758 110 594 116] 9.4 0.00002 7,723
400 |~ P 2,986 2.8 4,587 544| 103,019 1,919 7,471 1,703 38 2.2 467| 122,739
01 |10 2 A4—_BURNIIVR R, 2— 4

K
402 [ A7 F Bk 1,433 1,433
403 [T ) 0.006 0.002 0.008
404 |[~_oErmarx ) —)L
405 [13HFLEW 141 10 15 166
406 |PCB

R mFL o) =7 LF /Lo —T )b
407 | (T X NVFEDRFBEDN120615FTOL 1,074 5,392 14 360,222 10,613 377,314

Q&(ﬁ%mﬁéé\ IZFRD, )
408 i”_(ifi/iﬁ//)_jy%ﬂ/7i”l/ 83 1,543 1.3 1,646 14 3,287

R (xR FLr)=RT v rm—7/b
409 R T 2T L s 90 18,038 82,028 12,839 112,995
410 i%ﬁwiﬁ//)_/*"wji*"m‘ 1261] 5,506 22 1,654 193 8,636
411 [V LT IVTER 20,778 341 1,559 818 72,188 352| 18,778 434] 113 870 505 168 116,905
412 |~ H U R OZEDILEW 2.5 5.5 3.9 44 56
413 I K7 X )VER 1.6 0.002 1.6
414 IR~ AR 0.010 0.00007 0.010
415 | AZ 7V )VIE 47 1.4 49
416 | AR IVVEE2 — =F JL~F )L
ALT | ARV VIR, 3— TiRF 7 ak’)L
418 | AZTVNVEE2 — (VATFINVT ) =F )L 0.026 0.029 0.056
419 [ AZZVIVER I~V —T F )L 0.019 0.019
420 |AZTVIVEEAT )V 936 178 12 1,126
421 [A—AFVT o AFBH L —2—F
422 |72 2,172 2,172
423 [ AF LTI 0.0003 0.001 0.002
424 | AFIV=AVF AT H—h 8,540 8,540
425 | TahvT
426 |HIVRTT
427 [T "L 305 97 402
428 | 7= )7 HNT 284 259 543
429 [~NoRLTEL ATV 1,450 1,450
430 (A R¥HHLT 5.0 5.0
431 |7V ¥ AbaE 1,811 1,811
432 |[T7IFT X 40 40
433 |[H— 3N 700 700
434 A9 Iv 14 14
435 |EUI NI AT )L 342 342
436 | TV T 7 —AFI)VAF L
437 |3—AF )NTF AT ra/XJ—)
438 [ AFILFTHL L 9.4 1,383 1.0 0.0006 1,394
439 [3—AF LBV

1—AFI)L—1—Tz=)LF L=k~
40 | Sk 0.10 0.021 0.12
441 2— (1—AFNLTHEN) —4, 6—=}u

Jx/)—)b
442 | AFa=)L 283 283

Q-7




TN
TvEN

fE229 PEHIERI - X B2 E R Ok H EHERHRIR (BT AR [1. WG EHA = e A DD O Z I LU T ~23. pE SEPEEN) e Al it i

ALY

ERPEH & (kg/H, X A4 FEIFImg-TEQ/4E)

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
e MR ERD A oz | . . e R PN —fRpE | PEZEPE Az
o WE 4 \ T o e |TEEBETE | eyl |BAERAE WHT | 72X g KRR EED | PoE | fize we | AVVE | X AER | IKER | PR i &t
i Thogr| B R BEA R e A | oo o | AEE ) RIS | T  0 mener| com | E | mi | el | i
443 [ AL 552 552
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450 |7 FHLT 23 23
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